== AH
N = 0l & At & Ml A
20169 =3 1 3 =& d SE3H ot AE A
AN dot=SAFE A
HH: HRES (Mot ASA)

ESel WRAHAXNS(=EMHE SE3H) cel i )
& HH - (3 H) - HEMY - BdS Off &t 24 INEH Husz
MGt AFE A 8,811,842 9,312,845 A501,003

Jl 5,515,163 6,023, 166 508,003
= 3,296,679 3,289,679 7,000
MRS (Aot A D) 3,907,684 4,408,687 A501,003
Jl 3,900,684 4,408,687 A 508,003
= 7,000 0 7,000
WEHAXS(=EHE SEE3H) 3,900,684 4,408,687 /508,003
Il 3,900,684 4,408,687 A 508,003
LetHEES 3,900,684 4,408,687 A 508,003
Jl 3,900,684 4,408,687 A 508,003
701 DBt HSHEES 3,900,684 4,408,687 A 508,003
Il 3,900,684 4,408,687 A 508,003
01 DBt HE ES 3,803,697 4,313,367 /509,670
OJl=Are 3,803,697 4,313,367 A 509,670
— 83 sHENSSH=E FHIAEY
325,000,000& 325,000 858,000 533,000
Il 325,000 858,000 A 533,000
— U sHEDISct=S FUIAS (2&H2)
234,000,000& 234,000 679,000 A 445,000
Il 234,000 679,000 A 445,000
—EF sOHENSSH=E FHIAEY
33,000,000& 33,000 97,000 A 64,000
Il 33,000 97,000 A 64,000
—8FI)s sHELNSat=S FHIAY
1,179,000, 000& 1,179,000 655,000 524,000
Il 1,179,000 655,000 524,000
—gsgae 77,230 68,900 8,330
BHEATZAIE 2UEEEH 24,980,000 24,980 16,650 8,330
Jl 24,980 16,650 8,330
02 BIISELIHIYHES 96,987 95,320 1,667
OJI=sAe 96,987 95,320 1,667
— o3 BE579 22AY 96,987,000& 96,987 95,320 1,667
Il 96,987 95,320 1,667
SEXNE(=EMHL SL3IH) 7,000 0 7,000
2xX3tES 7,000 0 7,000
802 gHE = DI EF 7,000 0 7,000
01 2NExIeE= 7,000 0 7,000
OHFUXI ALY T EH Bhf 7,000 0 7,000
— 20144 4,000, 000& 4,000 0 4,000
— 20154 3,000,000 3,000 0 3,000
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